
Do check for all the components and screws listed in this guide before 
putting things together. If any part is missing, contact us 

   Assembly Guide

  Tip!



Montageanleitung

Tipp!

ÜBERPRÜFEN Sie alle in dieser Anleitung 
aufgeführten Komponenten und Schrauben, 
bevor Sie die Bauteile zusammenbauen. 

Page 6 of 6

Step 7

Step 8

8

H

G G

HG 2



Guide de montage

Attention !

VÉRIFIEZ  la présence de l’ensemble des 
éléments et vis énumérés dans ce guide 
avant de procéder au montage. 

Page 5 of 6

Step 5

Step 6



Page 4 of 6

Controllare tutti i componenti e le viti elencati 
in questa guida prima di inserire le cose insieme. 

Guida all'assemblaggio
Mancia!

Step 3

Step 4



Page 3 of 6

Step 1

Step 2

Verifique todos los componentes y tornillos. 
Enumerados en esta guía antes de poner las 
cosas juntos.

Guía de montaje

Consejo！



Page 1 of 6

A B

C D

E

G

F

H

Screws & Tools / Schrauben und Werkzeuge / Vis et outils / Viti e utensili / Tornillos y Herramientas /

Page 2 of 6

M6X35 M6X25

M6X12

M6X30

14 4

16 8

2 4

2 1

1

1 2

3 4

5 6

7 9

10

1pc

1pc

4pcs

1pc

2pcs

4pcs 2pcs

4pcs

2pcs

Components / Bauteile / Composants / Componenti / Componentes / 

ST3.5X12




